~
—_ PART1 I
o .
= £9%3 £23 £33 e N S O
—_— { =@ cBd £=C3 cDa c£E3 v, ol E \
— 2 cAad cBo == cbha CED Té §§ r;ﬁ ;
] 7]
} 8 == 3 cA3 £BD == cD3 CE3 m 59 % % {
m )
é% =  JcCAD smBp CcC3 c£D3 CE3 s 5 g N
A m
3 5 sk CB3 CCa ©DO CED mo = lﬁ
it oW R
%% — 6 cAD cBD cCo s CED ‘l Lo 2
m g -

. g T 7 cAo cBo ee® Do CED r!
= o -
g g =fAm CBo CCa cD> CED w

m
! — 9cA3 cBd cC3 =Be CE3
10 cAD == cCa cD3 CED Saz OB
i 23 25
! — 71 Ews B3 CCo ©Dd CED ’"‘SE -g'g‘f;
m g
= |12 cAD CBD CCa CD2 e 3 %3% 03
(ToGE) 388 95
13 cAa c£Ba c©Co whe cE2 3z39§ e %g
14 cAo =@e cCa cD CE3 5oaR| 38T ﬁg
uuoo - w
15 cAD CBo +w=es cD3 CED 2588 ag‘é E‘:-";
u U oy —
16 cA> c©Bo ©C2 =B=m CED Py iﬁ mz
uu =3 m
17 cAa c©Ba C=Co =8 cED g&%% “<v§
18 cAD cBo wwm CDD CED G %
[

g2

S3-188 "ON INHOH NCRELNYESS

prrreeprrrrtl

"1430 SWHO4 QHVANVYLS 0289-22.-008-1-T1¥2 HIAHOTH OL

D——
—
él

T

| 5 —
| == A2 cAD ©Bo ©Ca ©D3 cED - | |0 o
| Epp— o |»|> >
i 43 cAo ©Bo £C3 ch> C£E3 - | |m =
| 2 ™ 44 cAn cBa ©C3 ©Dbha CED > | :8
8 rimifi— b4

} % = 45cAs cBa =€ cba £ED s g {

= :
S == 46 cA= cBa =Ca cDh3 CE3 Oé
‘ = 47 cA> c©Ba £C3 ©Do cED " g
| - 48 cA> cBx c©C3 ©D3 cED =8 P
[}
- A9 cA3 cB3 ©C3 Do cED (‘3
M 50cAs cBo ©=C3 D3 CED @

| |l



Economics 3250 Dr. Lozada
Spring 2000 Exam 2

This exam has 30 questions, equally weighted. Some
questions have four options for the answer, while other ques-
tions have five options for the answer. Give the single most
correct answer to each question by marking in the appro-
priate place on the “Scantron” sheet you have been given.
Do not mark more than one answer for any question. If
you have to erase, erase completely, or your exam may be
misgraded by the Scantron machine.

On the Scantron sheet, also write your name, the phrase
“3250 Exam 2 Spring 2000,” and write either “Econ. major”
or “not Econ. major”, whichever describes you.

You have 1 hour and 20 minutes (till 12:05 PM) to finish
this test.
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1. In Figure 1, suppose a tax in the amount of AB is imposed on firms for
each unit of pollution which they do not abate. How much pollution
abatement is performed by firm 17

(a) AC
(b) CD
(c) CE
(d) CF
(e) ABFC

2. In Figure 1, suppose a tax in the amount of AB is imposed on firms
for each unit of pollution which they do not abate. What are the total
abatement costs for firm 37

(a) ILKG
(b) BLKA
(c) ALK
(d) HLKG
(e) ADC

3. In Figure 1, suppose in the past, all three firms were prohibited from
engaging in less than AG amount of pollution abatement. Suppose
these prohibitions are eliminated, but instead a tax in the amount of
AB is imposed on firms for each unit of pollution which they do not
abate. As a result of this change, abatement costs for firm 1

(a) go up.
(b)
(c) go down.
(d)

are unchanged.

undergo a change whose direction cannot be determined from the
information given.

4. In Figure 1, suppose in the past, all three firms were prohibited from
engaging in less than AG amount of pollution abatement. Suppose
these prohibitions are eliminated, but instead a tax in the amount of
AB is imposed on firms for each unit of pollution which they do not
abate. As a result of this change, abatement costs for firm 2

(a) go up.



(b) are unchanged.
(c) go down.

(d) undergo a change whose direction cannot be determined from the
information given.

5. In Figure 1, suppose in the past, all three firms were prohibited from

engaging in less than AG amount of pollution abatement. Suppose
these prohibitions are eliminated, but instead a tax in the amount of
AB is imposed on firms for each unit of pollution which they do not
abate. As a result of this change, abatement costs for firm 3

(a) go up.

(b) are unchanged.
(c) go down.
)

(d) undergo a change whose direction cannot be determined from the
information given.

. In Figure 1, suppose in the past, all three firms were prohibited from

engaging in less than AG amount of pollution abatement. Suppose
these prohibitions are eliminated, but instead a tax in the amount of
AB is imposed on firms for each unit of pollution which they do not
abate. Further suppose that CG = GK. Figure 1 can then be used to
show that the change in policy results in

(a) total abatement costs rising while pollution levels are unchanged.

(b) total abatement costs rising while pollution levels decrease.
(
(

)

¢) total abatement costs rising while pollution levels increase.

d) total abatement costs falling while pollution levels are unchanged.
)

(e) total abatement costs falling while pollution levels are increase.

. Suppose the government is going to impose a “tradeable pollution per-

mits” type of regulation. The government is trying to decide between
allocating the initial tradeable pollution permits according to “grand-
fathering” or according to “auctions.”

(a) Both polluting firms and the general taxpayer would prefer grand-
fathering to an auction.

(b) The polluting firms would prefer auctions to grandfathering, but
the general taxpayer would prefer grandfathering to auctions.



8.

10.

11.

(¢) The polluting firms would prefer grandfathering to auctions, but
the general taxpayer would prefer auctions to grandfathering.

(d) Both polluting firms and the general taxpayer would prefer auc-
tions to grandfathering.

Adopting tradeable pollution permits will not increase efficiency (when
compared to “command-and-control” regulation resulting in the same
total amount of pollution) if

(a) all of the polluting firms are identical.

(b

)
(c¢) more than half (but not all) of the polluting firms are identical.
(d)

none of the polluting firms are identical.

less than half (but more than zero) of the polluting firms are
identical.

(e) less than half, and possibly zero, of the polluting firms are iden-
tical.

. The least commonly used type of permlt trading in the US in the past

has been

(a) netting.
(b) offsets.

(c) bubbles.
(d) banking.

Rent-seeking refers to

(a) searching for profits in new markets.

(b) manipulating public policy for private gain.

(c) increasing the compensation for input suppliers.
(d) decreasing the compensation for input suppliers.

“Technology-based standards” are regulations on

(a) the kind of pollution control technology which firms may use.

(b) the kind of pollution measurement technology which firms may
use.

(c) the kind of pollution measurement technology which regulators
may use.

(d) the kind of pollution damage assessment technology which regu-
lators use to set standards.



12.

13.

14.

15.

Regulating ambient pollution means regulating

(a) relatively minor pollutants (in terms of their health effects).
(b) pollutants which remain in the environment for many decades.

¢) noise or other types of sound pollution.

)

(c)

(d) the introduction of new types of pollutants.
)

(e) pollutant concentration in air or water.

Figure 2 represents a fishery. In this fishery, the open access equilib-
rium level of effort is

(a) 0
(b

between 0 and 10.

between 10 and 20.

20 or more.

)
(c) 1
(d)
(e)

Figure 2 represents a fishery. In this fishery, the profit-maximizing
level of effort (for, say, a monopolist) is

(a) 0
(b
(c

)
) 1

(d) between 10 and 20.
)

(e) 20 or more.

between 0 and 10.

Figure 2 represents a fishery. In this fishery, the maximum-sustainable-
yield level of effort is

(a) 0.
(b) between 0 and 10.
(c) 1

(d) between 10 and 20.
)

(e) 20 or more.



16.

17.

18.

19.

Open-access equilibrium is characterized by

(a) zero profit.

(b)

(c) lack of property rights.

(d) all of the above.
)

(e

If one ignores the effect of high interest rates on the cost of capital
goods, then high interest rates would cause

inefficiency.

choices (b) and (c).

(a) a decrease in marine species extinctions and an increase in the
steady-state stock size.

(b) an increase in marine species extinctions and an increase in the
steady-state stock size.

(c) a decrease in marine species extinctions and a decrease in the
steady-state stock size.

(d) an increase in marine species extinctions and a decrease in the
steady-state stock size.

Compared to open-access management, common property manage-
ment

(a) is generally less efficient.

(b

)
(c) is generally more efficient.
(d) choices (a) and (b).

leads to lower numbers of fish surviving.

The book “Limits to Growth” was an example of what kinds of posi-
tions concerning resource scarcity?

(a) technocentric and Ricardian.
(b
(

) technocentric and Malthusian.
¢) ecocentric and Ricardian.
)

(d) ecocentric and Malthusian.



20. A “static stock index”
(a) measures how long current reserves of a resource will last at cur-
rent usage levels, or at historically increasing usage levels.

(b) of 110 would mean that current resource stocks are 1.10 times as
large as resource stocks at some “base year” in the past.

(c) ignores the discovery of new reserves in the future.
(d) choices (a) and (c).
(e) choices (b) and (c).

21. According to the Hotelling Rule, an exhaustible resource firm’s

(a) marginal revenue (price) minus marginal cost is zero at all dates.

(b) marginal revenue (price) minus marginal cost is positive and rises
at the rate of interest.

(c) marginal revenue (price) minus marginal cost is negative and rises
at the rate of interest.

(d) marginal revenue (price) minus marginal cost is positive and falls
at the rate of interest.

(e) marginal revenue (price) minus marginal cost is negative and falls
at the rate of interest.

22. According to most empirical studies, user cost in extractive industries
is
) clearly positive.
) zero or close to zero.
(c) clearly negative.
) clearly positive for some extractive industries, clearly negative for
others, and zero or close to zero for yet others.

23. Multinational corporations and free international trade encourage the
cutting of tropical forests for
(a) fuel.
(b) wood (not to be burned).
(c) land clearing and agriculture.
(d) choices (a) and (b).
(e) choices (b) and (c).



24. Among the positive externalities of tropical forests are

(a) carbon sequestration.
(b) hydrogen fixation.
(c) watershed protection.
(d) choices (a) and (b) and (c).
(e) choices (a) and (c).
25. “NIMBY” refers to
(a) a tradeable (“marketable”) permit scheme for municipal solid

waste.

| (b) regulating municipal solid waste with a combination of taxes and
| command-and-control.

(c) resisting the placing of noxious facilities near where you live.

|

' (d) a European Union initiative to increase recycling of glass and
l aluminum by at least 10% between 1993 and 2005.
|

26. A “materials levy” is a

(a) user charge.
(b) tax and subsidy combined.
(c) tax on inputs to production.

(d) tax on outputs of production.

27. A “deposit-refund system” is a
(a
(b
(c
(d

user charge.
tax and subsidy combined.

tax on inputs to production.

~— N ~—

tax on outputs of production.

28. A “waste disposal charge” is a
(a
(b

(c
(d

user charge.
tax and subsidy combined.

tax on inputs to production.

~— ~—t ~—

tax on outputs of production.




29. A “product charge” is a
(a
(b

(c
(d

user charge.
tax and subsidy combined.
tax on inputs to production.

tax on outputs of production.

— N

30. Avoiding “hot spots” is particularly important for a regulator if the
regulatory method is
(a) marketable permits.
(b) a material levy.
(c) a deposit-refund system.
(d) a waste disposal charge.
)

(e) a product charge.



